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\ Semester B B A. Degree Exammatlon, March-- 2021
BUSINESS ADMINISTRATION
Advanced Financial Management
(CBCS Scheme 2018 Batch Only)
Paper : FN.5.5 (Elective - 1)

Time 3H‘ours : - R | ~_.Maximu‘m Marks : 70
Instructtons to Candzdates . ' '
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Answers should be written in Enghsh only.

| SECT_ION -A -
| Answer any Five qoestions. Fach question carries 2 marks. - . (5><2%1,0)
1. ‘ea) Mehtion any two type | | o |
o :, h) Wha_t is sehsitivity analySis? ( / @
'c)  Whatiscostofdebt? Qq @
N | d) lee the meamng of Netincome approach
| - e) Whatis Scnp dividend?
f) _, Mentlon any. two methods of corporate valuatlon )
e 3 The earning per share is Rs. 18 and the current market price is Rs 150. Compute the.
cost of equity cap1ta1 S : :
SECTION-B -
AnsWer any Three que'stions. Each question carries Six marks. | 3 X5=18)
EXplain Various techniques of measofihg risks. | o | |
Explain the different theories of capital. structure. -
DlStlngUISh between shares and debentures.
a)  Whatis EOQ? Mention any 2 assumptlons of EOQ models. o
Find out EOQ from the followmg Annual usage 4000 units, cost of materlal per umt -

‘Rs. 2, cost of placing and receivinig one orderRs. 5. Annual carrying cost of one umt
- 8% mventory value.
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6. The following information is available in respect of XYZ Ltd,

Return on investment (r) = 10% | |

Earnings per share (B)= Rs. 40%

Determine the value of its share using Gordon’s m'ode41 assuming the'following.

Situations D/P Ratio (1-b) ~ Retention ratio (b)  cost df equity (ke) |
a o0 s 20%
b 60 - w0 O 16%

o s 0w
| ' ~"SECTION -C |
AnsWef any Three'qﬁest‘ioris.; »Ea"ch ques‘;iens carries 'Feurteen marks; ' .(3 ><1 4=42) |

7. Writea sh(‘)rt} noteson: 4@
a)  Relative valuation method. ( / @
b) Deterrmnants of workmg cap1ta1 Qq@ J’

8. ABCLt.is con51der1ng two mutually excluswe projects X andY. Project X costs Rs.40, O()O
and project Y Rs 45,000 you have been given below the NPV probability distribution for

‘ each project. »
PrOJectX ‘» | : o . PPOJeCtY
NPV Estimate (Rs.) Probability NPV Estimate (Rs ) Probability
300 - o1 3,000 02
6000 04 6000 03
12,000 04 12,000 . 03
150000 o1 15000 - 02

1. 'Compute the expected NPV of projects X and Y

2.  Compute the risk attached to each prOJ ject, that is standard deviation of each probablhty
dlstrlbutlon . S

-3.  Which pI'Q]CCt do you consxder more rlsky and why‘7
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Calculate the market value of the ﬁrm and over all capitalisation and also show the 1mpact

.of increasing the . debt capital upto Rs. 8,00,000 and reducing the debt capltal upto
'Rs.3,00,000 by usmg Net Income: approach

o Total Net Income 1 00 ooo

- 10.

iEqulty capltahsatlon rate 18% ‘
.}'The exrstmg debt capltal 5,00,000
. Interest rate per year 6%

;A company is expectmg to have Rs. 16, OOO cash in hand on lSt April 2021 and it requests .
-you to prepare cash budget for the three months Apr11 to June 2021. The followmg

o mformatlon is supplied toyou:

Month ik Sales (Rs.) @/ Purchase (Rs) Wages (Rs.) : | lExpenses (Rs.) |
"February .35;000 %Z)/ 3000 | '2“,500_A_ |
March - »‘46,000:'_ 28,000 8@4 o '4',500 B 3,000

."V‘Apﬁl . 48,000 | 30000 4500 | © 3,500
“|May | '5(0‘,000' | 34,000 ; v's;soo 1 '4,500_'
{une 60,000 | 31000 | 7,000 | | 4500

Ot_her Information : |

&

a . Period-of credit allowed bysuppliers istwo months.

b, 25%ofsalesi 1s for cash and the perrod of credit allowed to customers for credit sales

is one month.

c. -‘Delay in payment of wages and expenses one month. -

d. Income tax Rs. 14,000 is to be paid in June 2021.
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1. The followmg 1nformat10n is avallable inrespect of a firm : o
| Cap‘italisation Rate (ke or ko) - IO%
f AEammg per share (EPS) - Rs. 50

Assumed rate of return on investments -

Ca 12%
b 8%
c. 10%

You are requlred to show the effect of dividend pohcy on market prlce of shares by applymg
Walter’s Model when dividend pay outratiois - -

Ca 0% @
Ceom g
e 50% | !l

« oo @Qq@y.




